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A MA R HERRL
hh A1 %E

clc;
clear;

close;
VA I

T = 100;
e = randn(1l, T);
model = 4;

hh A=A

X = zeros(l, T); % #H W %
r = zeros(1, T); % E it 8 B 7 & &K
if model == 1 % M &1
X(1) = e(1);
for i = 2 : T
X(i) = e(i) + 0.7 * e(d - 1);

end
r(1) = 0.7 / (1 + 0.772);
elseif model == 2 Y # A2

X(1) = e(1);
for i = 2 : T
X(i) = e(i) - 0.7 * e(i - 1);



end
r(1) = - 0.7 / (1 + 0.772);
elseif model == h A3
X(1) = e(1);
X(2) e(2) + 0.7 *x e(1);
for i = 3 : T
X(i) = e(i) + 0.7 * e(i - 1) - 0.4 * e(i - 2);

end
r(1) = (0.7 - 0.4 * 0.7) / (1 + 0.4°2 + 0.7"2);
r(2) = - 0.4/ (1 + 0.4°2 + 0.7°2);
elseif model == h A4
X(1) = e(1);
X(2) = e(2) + 0.7 * e(1);
X(3) = e(3) + 0.7 x e(2) - 0.4 *x e(3);
X(4) = e(4) + 0.7 * e(3) - 0.4 x e(2) + 0.6 * e(1);

for i =5 : T
X(i) = e(i) + 0.7 * e(i - 1) - 0.4 * e(i - 2) + 0.6 * e(i - 3) + 0.8
* e(i - 4);
end
r(1) (0.7 - 0.7 * 0.4 - 0.4 *x 0.6 + 0.6 * 0.8) / (1 + 0.8°2 + 0.672
+ 0.4°2 + 0.7°2);
r(2) (- 0.4 + 0.7 x 0.6 - 0.4 *x 0.8) / (1L + 0.872 + 0.6°2 + 0.4°2 +
0.7°2);

r(3) = (0.6 + 0.7 * 0.8) / (1 + 0.872 + 0.67"2 + 0.4"2 + 0.7"°2);
r(4) = (0.8) / (1 + 0.872 + 0.67"2 + 0.4"2 + 0.7°2);
end

hh E KX HE
U = zeros(1, T); % Eff LR
U(l) = 1.96 / sqrt(T);
for k = 2 : T
U(k) = 1.96 * sqrt(l + 2 * sum(r(1 : k - 1).72)) / sqrt(T);
end

L=-1x*U; % BEFTR
hho B OE T #K
gamma0 = sum((X - mean(X))."2) / T; % 7 %=

gamma = zeros(l, T); % E W 7 = & %
rho = zeros(1, T); % E EH T E



for k = 1 T
sum = O0;
for i =k + 1 : T
sum = sum + (X(i) - mean(X)) * (X(i - k) - mean(X));
end

gamma (k) = sum / T;
rho (k) = gamma(k) / gammaO;

end

%h B 1A F 5 A

subplot (1, 2, 1);
scatter(l : T, X, ’k’);
hold on;

plot(1 : T, X, ’k’);

grid on;

%hoB B3 E & A

subplot (1, 2, 2);

t = 30;

scatter(1 : t, rho(l : t), ’k?’);
hold on;

plot(1 : t, rho(l : t), ’k’);
hold on;

plot(1 : t, U(CL : t), ’--k>, 1 : t, L(1 : t), ’--k?);

grid on;

set (gcf, ’unit’, ’centimeters’, ’position’, [10 10 30 10]);

B AR EHEHHEEIL
hh A %E
clc;

clear;

close;

%hoA 3



T = 100;
e = randn(1, T);
model = 4;

hh oA A

X = zeros (1, T); % % #
if model == 1 % 1% &1
X(1) = e(1);
for i = 2 : T
X(i) = 0.7 * X(i - 1) + e(i);
end
elseif model == 2 % &2
X(1) = e(1);
for i = 2 : T

X(i) = - 0.7 * X(i - 1) + e(1)
end
elseif model == 3 % # &3
X(1) = 0.26 + e(1);

X(2) 0.26 + 0.5 * X(1) + e(2);
for i = 3 : T
X(i) = 0.26 + 0.5 * X(i - 1) + 0.24 *x X(i - 2) + e(i);

end
elseif model == 4 % # A4
X(1) = e(1);
X(2) = 0.5 * X(1) + e(2);
X(3) = 0.5 * X(2) + 0.24 * X(1) + e(3);
X(4) = 0.5 % X(3) + 0.24 * X(2) + 0.2 *x X(1) + e(4);

for i =5 : T
X(i) = 0.5 * X(i - 1) + 0.24 * X(i - 2) + 0.2 * X(i - 3) - 0.8 * X(i
- 4) + e(i);
end

end

hh EfE X A

1.96 * ones(1, T) / sqrt(T); % & f& LR
-1 xU; % BEETR
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hoMR B OE O #

pi = zeros(1l, T);
for k =1 : T
b = zeros(1l, k);
fun = @(b) £(X, T, b, k);

[b fval] = fminunc(fun, zeros(l, k));
pi(k) = b(k);
end

%% B 1E F 5 A

subplot (1, 2, 1);
scatter(l : T, X, °’k?’);
hold on;

plot(l : T, X, ’k’);

grid on;

%% B BB H K

subplot (1, 2, 2);

t = 30;

scatter (1 : t, pi(1 : t), ’k’);
hold on;

plot(l : t, pi(1 : t), ’k’);
hold on;

plot(1 : t, U(L : t), ’--k>, 1 : t, L(1 : t), ’--k?);

grid on;

set (gcf, ’unit’, ’centimeters’, ’position’, [10 10 30 10]);

hh H AT B K

function y = £(X, T, b, k)
sl = 0;
for t =k + 1 : T
s2 = 0;
for i =1 : k
s2 = 82 + b(i) * X(t - 1i);

end
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s1
end
y=
end

si;

s1 + (X(%)

52)°2;
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